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Transistor Emizter l Base
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TRI1 AF117 076 0-85
TR2 AF117 15 157
TR3 AF117 08 0-94
TR4 AF117 11 13
TR5* ACI55 0-8 092
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Resistors
R1 56k
R2 22kQ)
R3 4-7TkQ
R4 6-8kQ
R5 1-8kQ)
R6 1-5kQ
R7 680Q
R8 120kQ
RO 680Q)
R10 56kQ
R11 470Q
R12 22kQ
R13 4-TkQ
R14 8:2kQ)
RI5 1kQ
R16 470kQ
R17 4-7kQ
R18 820Q)
R19 18k()
R20 390kQ
R21 6-8k2
R22 180Q2
R23 470Q
R24 12Q
R25 4-7Q
Capacitors
C1 393pF
C2 25pF
C3 2,000pF
C4 100pF
C5 2,000pF
C6 140pF
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Cl10
Cl1
C12
C13
Cl14
Cl5
Cl6
Cl17
C18
C19
C20
Cz21
C22
C23
C24
C25
C26
C27

300pF
5,000pF
0-02F
200pF
250pF

1.3 93
L4 2:6
L5 —
L6 25
L7 —
18 _
L9 38
L10¢ 15
111 —
112 58
113 38
L4 15
L15 —
L16 58
L17 55
1.18 —_
L1o 350
Transformers*
a 160-0

T1 (b 35~0]‘

Ve c 35»0{
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T2 b 18/

Miscellaneous
PL1 8V 0-15A
S1-59 —_
W1 0A90
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CIRCUIT ALIGNMENT

Throughout alignment the signal input
level should be adjusted to maintain an out-
put from the receiver of 50mW with the
volume control at maximum, to avoid a.g.c.
action.

Equipment Required.—An a.um. signal
generator modulated 30 per cent; an audio
output meter with an impedance of 30-4042
or, alternatively, a model 8 Avometer
switched o its 2.5V a.c. range; an r.f. coup-
ling loop and a 0.1+F capacitor.
1.—Connect the audio ourpur meter in place

of the loudspeaker across the ls. winding
of T2, or conncct the Avometer {switched
to its 2.5V a.c. range) in parallel with the
loudspeaker. Connect the signal generator
via the 0.1+F7 capacitor, across the tuning
gang aerial section Cl. ‘lurn the volume
control o maximum.

2.—Swiich receiver to mw. and turn_the
tuning gang to maximum capacitance. Feed
in a 475kc/s signal, and adjust L17, L16,
L13/L14, L12 and LY9/L10 in that order
for maximum ocutput. Repeat in the same
order until no further improvement is ob-
tained.

3.—Check thar with the gang ar maximum,
the cursor coincides with the pip at the
left-hand end of the scale window. Adjust
if necessary by sliding the cursor along
the cord.  Connect the signal generator to
the r.f, coupling leop, and loosely couple
the Inop to the ferrite rod aerial.

4.—Tunc receiver to 500m (marker). Feed
in a 600ke/s signal and adjust L& and L4
for maximum output.

.—Tune receiver to 200m (marker). Feecd
in 1,500kc/s signal and adjust C18 and C2

for maximum output.

6.—Switch receiver 1o lLw. and tune to the
L.w calibration marker. Feed in a 220ka/s
signal and adjust C19 and L3 for maximum
output.

Note: If the loudspeaker has been removed
10 give easier access to coil cores, it should
be replaced before the final alignment of
L4, C2 and L3 because its position has

wn

some cffect on tuning. €2 and C18 adjust-

ments are accessible through an aperture

(normally cavered by adhesive tape) in the

underside of the case.
7.—Switch receiver to m.w. and depress the

car press-button. Set L2 adjusting screw

{cam follawer) so that an equal amount of

thread appears at each end of its moulded

support. Conncct the signal generator to
the car aerial socket via a dummy aerial
comprising an 18pF capac:ror in series with
the signal generator “live” lead followed
by a 60pF capacitor across the intier and
outer connections of the aerial socket.
8.—Fced in a 1,500kc/s signal and tune the
receiver to this signal (approximately 200m)

for maximum output. Adjust L2 (m.w.

car acrial adjusting screw) for maximum

output.
9.—Fe¢ed in a 600kc/s signal and tune re-
cciver to this signal (approximately 500m).

Adjust C6 for maximum outpur.
10.—Switch receiver to Lw. (and car). Feed

in a 220kc/s signal and tune receiver to

this s:gna] {approximately 1,400m). Adjust

L1 for maximum output,
11,—Repeat operations ¥, 9 and 10 as neces-

sary for maximum output and correct cali-

bradon.

After assembling the chassis in the case,
€2 should be adjusted for maximum output
on a radiated signal a2t approximately 1,503
kc/s. €6 should be finally peaked after the
car aerial has been plugged in .



